EX/ET/MNG/ME/T/1/421/2019
Bachelor of Electronics and Telecommunication Engineering Examination, 2019
(4th Year, 2nd Semester)
Industrial Management

Time: Three Hours Full Marks: 100

Different parts of the same question should be answered together

1. Answer any two from (a), (b) and (c) in this block 2 x10=20
(a) Enumerate fourteen principles of management as prescribed by Henry Fayol. What are the benefits of
MBO? 7+3
(b) Explain basic formation procedure of joint stock companies. What are the advantages of partnership
firms? 7+3
{c) Summarise batch production. State objectives of management. 5+5
2. Answer any two from (a), (b} and (c) in this block 2x15 = 30

(a) The owner of a chain of fast food restaurants is considering a new computer system for
accounting and inventory control. A computer company sent the following set of information
about the computer system installation:

Activity Description Immediate Times (days)
Predecessor | Qptimistic | Most Likely | Pessimistic

A Select the computer model - 4 6 8
B Design input/output system A 5 7 15
C Design monitoring systems A 4 8 12
D Assemble computer hardware B 15 20 25
E Develop the main programmes B 10 18 26
F Develop input/output routines C 8 9 16
G Create database E 4 8 12
H Install the system D,F 1 2

| Test and implement G H 6 7

(i) Construct the network diagram of the project, and show expected early start time, early finish time,
late start time and late finish time of each activity on the diagram. (ii) Determine the critical path
and compute the expected completion time of the project. (iii) Determine the probability of
completing the project in 55 days (please consult Appendix - 1). 6+6+3

(b) When does a facility location decision arise? Explain location factor of raw materials and component
sources for deciding facility location. Present a sample diagram of fixed position layout. What are the
advantages of fixed position layout? 3+45+4+3
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(c) The annual demand of a product is 10,000 units. Each unit costs Rs. 100, if the orders are placed in
quantities below 200 units. For orders of 200 or above, however, the price is Rs. 95. The annual inventory
holding cost is 10% of the value of the item and the ordering cost is Rs. 5 per order. Find the economic lot

size (EOQ). 15
Answer any two from (a), (b) and (c) 2x10=20
(a) Explain three aspects of quality. State the attributes of preventive maintenance. 5+5

(b) A producer of boats has estimated the following distribution of demand for a particular kind of boat:
Number demanded: 0 1 2 3 4
Probability: 014 022 027 018 019

Each boat costs him Rs.9,000 and he sells each boat for Rs. 13,000. Any boat that is left unsold at the end of
each season must be disposed off for Rs. 7,000 each. Prepare a payoff matrix, and compute number of boats

to be stocked in order to maximise his profit. 6+4

(c) What are the assumptions of break-even analysis? Derive break-even point (QBEP). 5+5

Answer any two from (a), (b) and (c) 2x10=20

(a) Use dominance method to solve the following game: 10
Player B

3B 65 25 5

40 50 0 10
Player A
55 60 10 15

(b} Apply VAM to find out initial basic solution of the following transportation problem (write every critical step) .

10
Transportation Costs per Unit of Sigma Induction Cooker
From\ To Dhulian Englishbazar Falta Total Supply (No.
of Units)

Andul Rs. 64 Rs. 48 Rs. 56 300

Bangaon Rs. 48 Rs. 56 Rs.72 450
Chandannagar Rs. 56 Rs. 64 Rs. 64 510

Total Demand (No. of 360 540 360
Units)




{c) There are 2 counters for issuing tickets at a suburban railway station. Both clerks at the counters
work at the same average rate of 40 passengers an hour. The mean arrival rate is 64 passengers
an hour. If Poisson rates of arrival and service are assumed, find out the following: 5x2

(1) Server utilization factor.

ill) The probability that there will be no passenger in the system.
iii) Average number of patients waiting in the queue.

(iv) Average number of patients waiting in the system.

(v) Average patients’ waiting time in the system.

5. Answer any one from (a) and (b) In this block 1%x10 =10

{a)Enumerate basic requirements of an industrial relation programme. What are the functions of trade union?
545

(b) What non-financial incentives do industries offer? Describe straight piece rate system of wage incentive
plan. 4+6
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